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L. (1) A child sitting 1.10 m from the center of a merry-go-

round moves with a speed of 1 .25 m/s Calculate (a) the
—

centnpetal acceleration of the child md (h) the net hon-
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2. (1) A jet plane traveling IS0 Kkm/h (525 m/s) pulls out of
O ———
a dive by moving in an arc of radius 6.00 km. What is the
plane’s acceleration in g's?
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L (1) Calculate the centripetal acceleration of the Earth in
is orbit around the Sun, sasthe-net force exerted on the
2 Ol cXCTts B ' Assume that
the Earth’s orbit is a circle of rqdm I () > HI” m. e
SRTIT fabies mside the T .
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A car moving at 12.67 m/s rounds a bend in the road. The

bend i1s semicircular and has a radius of 60.0 m. What is
the centripetal acceleration of the car? R
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]
A town has a large clock on the hall in the town square.

The clock has hands that show the hours, minutes, and

seconds. A fly is sitting on the tip of the hand that shows
the seconds. If the length of the hand is 1.20 m, what is

the fly’s centripetal acceleration?
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A rock is tied to a string and spun in a horizontalcircle.
The string Is 1.8 m long and the rock has an acceleration
of 3.4 m/s2. What is the tangential_yelocitl_of the rock?

el r*&"‘/,z r A
0= 34m/s>

N

V=Jar =\I<3_L4 )O,% )"—"2.’*[7’5%

(i-25m)

Page 7



